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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Discuss the main characteristics of Indian economy 

with reference to the developing economy. 

,d fodkl’khy vFkZO;oLFkk ds lanHkZ esa Hkkjrh; vFkZO;oLFkk 

dh eq[; fo’ks”krk,¡ crkb,A 

2. Give the meaning of Poverty. Discuss the causes of 

poverty in India. What measures are taken by the 

Government to solve this problem ? 

Xkjhch dk vFkZ crkb,A Hkkjr esa xjhch ds dkj.kksa dks Li”V 

dhft,A bl leL;k ds lek/kku ds fy;s ljdkj us D;k 

mik; fd;s gSa \ 

3. Critically examine the New Industrial Policy of India. 

Hkkjr dh ubZ vkS|ksfxd uhfr dk vkykspukRed ewY;kadu 

dhft;sA 

4. What is Green Revolution ? Explain the main elements 

of Green Revolution. 

gfjr ØkfUr D;k gS \ gfjr ØkfUr ds eq[; rRoksa dks 

le>kb,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Problems of Agricultural Finance in India. 

Hkkjr esa d`f”k foŸk dh leL;k,¡A 

2. Causes of Educated Unemployment in India. 

Hkkjr esa f’kf{kr csjkstxkjh ds dkj.kA 

3. Main imports of India. 

Hkkjr ds eq[; vk;krA 

4. Regulated Markets. 

fu;fer ef.M;k¡A 

5. Functioning of NITI Aayog. 

uhfr vk;ksx dh dk;Ziz.kkyhA 

6. Disguised unemployment. 

vn`’; csjkstxkjhA 

7. State the objectives of Eleventh Five Year Plan. 

X;kjgoha iapo”khZ; ;kstuk ds mís’; crkb,A 

8. Impact of Globalization in Indian Economy. 

oS’ohdj.k dk Hkkjrh; vFkZO;oLFkk ij izHkkoA 



 [ 4 ] BAEC–102/EC–02 

B-13 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Write „Yes‟ for right answer and „No‟ for wrong answer : 

lgh dFku ds fy, Yes/gk¡ vkSj xyr dFku ds fy, No/ugha 

fyf[k, % 

1. According to 2011 census the sex-ratio of India was 

924. 

2011 dh tux.kuk ds vuqlkj Hkkjr dk fyaxkuqikr 924 FkkA 

2. National Rural Employment Guarantee Scheme was 

launched on 2nd February, 2006. 

jk”Vªh; xzkeh.k jkstxkj xkj.Vh ;kstuk 2 Qjojh] 2006 dks 

izkjEHk gqbZ FkhA 

3. India has maximum foreign  trade with U. S. A. 

Hkkjr dk vf/kdre fons’kh O;kikj ;w- ,l- ,- ds lkFk gksrk 

gSA 

4. The best indicator to measure Economic Development 

is Employment. 

vkfFkZd fodkl dh eki ds fy, jkstxkj lcls csgŸkj ?kVd 

gSA  
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5. Economic reforms was announced in India in 1990. 

Hkkjr esa vkfFkZd lq/kkjksa dh ?kks”k.kk 1990 esa gqbZA 

Choose the correct alternative : 

lgh fodYi pqfu, % 

6. “Operation Flood” is referred to : 

(a) Dairy Development 

(b) Water Resource Development 

(c) River Valley Development 

(d) Disaster Management 

ßvkWijs’ku ¶yMÞ fuEufyf[kr esa ls fdlls lEcfU/kr  

gS \ 

¼v½ Msjh fodkl 

¼c½ ty lalk/ku fodkl 

¼l½ unh ?kkVh fodkl 

¼n½ vkink izcU/ku 

7. The period of the 10th Five Year Plan in India is : 

(a) 2000–2005 

(b) 2001–2006 

(c) 2002–2008 

(d) 2003–2008 

Hkkjr esa nloha iapo”khZ; ;kstuk dh vof/k D;k gS \ 

¼v½ 2000&2005 
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¼c½ 2001&2006 

¼l½ 2002&2008 

¼n½ 2003&2008 

8. RBI was nationalised in : 

(a) 1949 

(b) 1945 

(c) 1959 

(d) 1947 

Hkkjrh; fjtoZ cSad dk jk”Vªh;dj.k gqvk % 

¼v½ 1949 esa 

¼c½ 1945 esa 

¼l½ 1959 esa 

¼n½ 1947 esa 

9. The Chairman of NITI Aayog in India is : 

(a) President 

(b) Prime Minister 

(c) Finance Minister 

(d) Planning Minister 

Hkkjr esa uhfr vk;ksx dk v/;{k gksrk gS % 

¼v½ jk”Vªifr 

¼c½ iz/kkuea=h 

¼l½ foŸk ea=h 

¼n½ ;kstuk ea=h 
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10. In which crop Green Revolution was most  

successful ? 

(a) Patato 

(b) Sugarcane 

(c) Wheat 

(d) Tea and Coffee 

fdl Qly ds mRiknu esa gfjr ØkfUr lcls vf/kd lQy 

jgh gS \ 

¼v½ vkyw 

¼c½ xUuk 

¼l½ xsgw¡ 

¼n½ pk; rFkk dkWQh 
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